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3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL��6HEHUDSD�EDQ\DN�PLQDW�PDWD�SHODMDUDQ�
JHRJUDIL�GLEDQGLQJ�PDWD�SHODMDUDQ�SLOLKDQ�81%.�ODLQQ\D�GL�60$1����%DWDQJ�$QDL�GDQ�
DSD� VDMD� \DQJ� PHPSHQJDUXKL� VLVZD� GDODP� PHQHQWXNDQ� SLOLKDQ� PDWD� SHODMDUDQ� SLOLKDQ�
81%.�� -HQLV� SHQHOLWLDQ� DGDODK� GHVNULSWLI� NXDQWLWDWLI�� 3RSXODVL� SHQHOLWLDQ� DGDODK� VHPXD�
VLVZD�,36�NHODV�;,,� WDKXQ�DMDUDQ�����������60$1���%DWDQJ�$QDL�\DQJ�EHUMXPODK�����
RUDQJ�� 3HQDULNDQ� VDPSHO� PHQJJXQDNDQ� UXPXV� 6ORYLQ�� GHQJDQ� WHNQLN� 3URSRUWLRQDO�
5DQGRP� 6DPSOLQJ� VHKLQJJD� GLSHUROHK� UHVSRQGHQ� ��� RUDQJ�� 7HNQLN� SHQJXPSXODQ� GDWD�
PHQJJXQDNDQ�WHNQLN�REVHUYDVL��SHQ\HEDUDQ�DQJNHW�GDQ�GRNXPHQWDVL��7HNQLN�DQDOLVLV�GDWD�
PHQJJXQDNDQ� SHUVHQWDVH�� +DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD�� 'DUL� WDKXQ� NH� WDKXQ�
MXPODK� SHPLQDW� PDWD� SHODMDUDQ� JHRJUDIL� GDODP� 81%.� GL� 60$1� �� %DWDQJ� $QDL�
PHQLQJNDW�VHWLDS�WDKXQQ\D��+DO�LQL�WHQWX�GLVHEDENDQ�ROHK�EDQ\DN�IDNWRU��GLDQWDUDQ\D�DGD�
IDNWRU� LQWHUQDO� \DQJ� EHUDVDO� GDUL� GDODP� GLUL� VLVZD� GDQ� IDNWRU� HNVWHUQDO�� )DNWRU� LQWHUQDO�
\DQJ�PHPSHQJDUXKL�PLQDW�PDWD�SHODMDUDQ�JHRJUDIL�VHEDJDL�PDWD�SHODMDUDQ�SLOLKDQ�81%.�
GL� 60$� �� %DWDQJ� $QDL� VXGDK� WLQJJLGHQJDQ� VNRU� UDWD�UDWD� \DQJ� GLSHUROHK� GDUL� IDNWRU�
LQWHUQDO� \DLWX�������)DNWRU�HNVWHUQDO� \DQJ�PHPSHQJDUXKL�PLQDW�PDWD�SHODMDUDQ�JHRJUDIL�
VHEDJDL�PDWD� SHODMDUDQ� SLOLKDQ�81%.� GL� 60$� � %DWDQJ�$QDL� \DLWX� MXJD� VXGDK� WLQJJL�
GHQJDQ�VNRU�UDWD�UDWD�\DQJ�GLSHUROHK�GDUL�IDNWRU�HNVWHUQDO�\DLWX��������

'DUL�KDVLO�SHQHOLWLDQ�LQL�GDSDW�GLVDUDQNDQ�EDKZD�JXUX�SHUOX�PHPSHUWDKDQNDQ�GDQ�
PHQLQJNDWNDQ� NLQHUMDQ\D� GHQJDQ�PHQJJXQDNDQ�PHGLD� GDQ�PHWRGH� SHPEHODMDUDQ� � \DQJ��
WHSDW��GDQ��YDULDWLI��DJDU��VLVZD��PXGDK�PHPDKDPL�PDWHUL�GDQ�WLGDN�PHPERVDQNDQ�VLVZD��
8QWXN�NHOXDUJD�VLVZD�NHODV�;,,� ,36�GL�60$1���%DWDQJ�$QDL�XQWXN�GDSDW�PHPEHULNDQ�
GXNXQJDQ�PRULO� GDQ�PDWHULO� VXSD\D� VLVZD�\DQJ�PLQDW� WHUKDGDS�PDWD�SHODMDUDQ�JHRJUDIL�
GDSDW�PHQ\DOXUNDQ�PLQDWQ\D� SDGD�PDWD� SHODMDUDQ� JHRJUDIL�� EHJLWX� SXOD� SHODMDUDQ� \DQJ�
ODLQ�
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